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MTH501:Quiz No 2

Question # 1 of 10 { Start time: 03:55:05 PM. 14 June 2021 )

If & matrix A is invertible than adj(A) is also invertible.
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Select the cormrect option \\\\
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MTH501:Quiz No 2 Quiz Stan

Question # 2 of 10 { Start time: 03:55:25 PM. 14 June 2021 )

Associative property states that if £. g and h are inV then for all

Select the correct option

((f +9) + R)(z) = (f +9)(z) + h(z)

(f+g) +h)(z)=(f+(g+h))(z)
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MTHS501:Quiz No 2

Question # 3 of 10 { Start time: 03:55:46 PM. 14 June 2021 )

A matriz A and its transpose have the same determinant.
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MTH501:Quiz No 2 Quiz Start Time: 03:55 PM, 14 June
Question # 4 of 10 { Start time: 03:56:07 PM. 14 June 2021 ) Total Mz
The value of the determinant of a square matrix remains unchanged if we multiply each element of a row or a column by some
1 scalar.
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MTHS501:Quiz No 2 Quiz Star

Question # 5 of 10 { Start time: 03:56:50 PM. 14 June 2021 )

The subspace {0} in a vector space V is known as the:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3
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Select the cormrect option \“\\ ,

Zera vector space
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Spanning set

Subspace
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Question # 6 of 10 { Start time: 03:58:06 PM. 14 June 2021 ) Tol

If all the elements of one row is ' in @ matrix A then which of the following about the determinant of the matrix is true?
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Select the correct option . \Qy (_\
] det (A)is not equal to'1" A @V
O i
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9
det (A)=1 &
O
det (A)=0 \

det (A)is not equal to D'
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Question # 7 of 10 { Start time: 03:58:27 PM, 14 June 2021)

Let V be a five dimensional vector space. and let 5 be a subset of V which spans V. then §

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

Select the correct option @

O
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Must be linearly dependent, %\\7
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O
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Must consist of at least five elements
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Question # & of 10 ( Start time: 03:58:58 PM. 14 June 2021 Total N

While using the Cramer's rule, if determinant D = 0, and other determinant is not zero then how many solutions are there?
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Select the correct option
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one solution
O Q)
no solution %
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two solutions \

many solutions
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Question # 9 of 10 ( Start time: 03:59:22 PM. 14 June 2021 )

Any system of n linear equations in (n+1) variable can be solved by Cramer's rule.
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Select the cormrect option \ \ @\
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Question # 10 of 10 ( Start time: 03:59:42 PM. 14 June 2021)

All the planes those passes through origin are the subspace of a three dimensional space.

A
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Select the cormrect option
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:: Question # 1 of 10 { Start time: 04:08:41 PM. 14 June 2021 )

: If Ais nx n matrix and det (A) = 2 then det (A"3) =

) Where (A3 =A power 3)
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MTH501:Quiz No 2

Question # 2 of 10 ( Start time: 04:09:16 PM. 14 June 20217 )

The three mast important special casesof R" arex € R
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Question # 3 of 10 ( Start time: 04:09:59 PM. 14 June 2021 ) Total Mz
The value of the determinant of a square matrix remains unchanged if we multiply each element of a row or a column by some

] scalar.
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Question # 4 of 10 { Start time: 04:10:36 PM. 14 June 2021 )

The subspace {0} in a vector space V is known as the:
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Question # 5 of 10 { Start time: 04:11:11 PM. 14 June 2021 ) Total Mz
Suppose k is any scalarand u = (uy, w9, ..., U ), v = (V1,v2,...,0,) € R™ . then the distributive law states that

Select the correct option 8’ C ® Reload Math Equat

k{u+v)=kuv

K(u+v)=ku+kv \ S~—

Click to Save Answer & Move to Next Questi
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Question # 6 of 10 ( Start time: 04:11:49 PM. 14 June 2021

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

If M=[3] then which of the following is the determinant of the matroc M?
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- Select the cormrect option
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MTH501:Quiz No 2 Quiz Start Time: 04:08

Question # 7 of 10 { Start time: 04:12:04 PM. 14 June 2021 )

If u and v are vectors in Wand u=(1.-3.2) and v =(4.2,7) then which of the following is true for u + vin W 7

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option @)Q
(5.-1.3) ;
° @
@\ﬁ/
(-4.-2-7)

(5.-1.2)

(-3-5.1)
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MTH501:Quiz No 2 Quiz Start Tim

Question # 8 of 10 { Start time: 04:12:23 PM, 14 June 2021

If one row of A is multiplied by k to produce B, then which of the following condition is true?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

9.
/

3 Select the comrect option A
3 0
detB = k detA A \
[ ]
4%
detB = detA ) . ’
O

det(AB) = (detA)(detB)

detB = - deth
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| hédd Roid heid Reid Roid Ros

®

3

Question # 9 of 10 ( Start time: 04:12:41 PM. 14 June 2021 )

In general,

Select the comrect option \

det{A+B)+ det(A)+det(B) A

det{A+B)=det(A)+det(B)
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Question # 10 of 10 { Start tine: 04:12:56 PM, 14 June 2021 ) To

By using determinants. we can easily check that the solution of the given system of linear equation exits and it is unique.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option . \ \
TRUE

FALSE V

O

34 account

XX LRXAERRXLXRXDAERYRADRDRLAELAEALYADALALALRYRAXALXYXLXALARXLYARXRLDLARXYRLRERRDXALXYILADALRYRXDXILXALALLALXLYRADLLRYRLALLRYRLLXILADLLRYXDILLALELIALXLXAXTLXXIXEIRXXXIXSRNR

TRV R VR VIR VI TR VIV IR VIV TR VIOV T VIR VIR IOV TRV IV I IV TR IV I VIV I VI VIR VIS VI VI VI VI Y UV T T VT I VI ¥ I VI TV TV TV T VI VI ¥ IV TV IV T ¥ T Y T VIV TV Y T VU VIV Y T VUV T VY T VTV T VY R VY e Yy




PAXRX XAV AERE A AR AR AR AR ALY LYY
VTV TV eV VeV Ve Ve VeV Vo Ve Ve Vo Ve Y VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Vs Ve Ve Vo Vo Ve Yo o

MTH501:Quiz No 2 a

Question # 1 of 10 { Start time: 04:28:56 PM. 14 June 2021 )

The determinant of the identity matro: is

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

S

N

Q}\

Select the correct option Q¢

1

L] Q) @%

-

n x (number of rows or coulms)
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Question # 2 of 10 { Start time: 04:25:17 PM. 14 June 2021 )

3 2
The determinant of a square matrix 4 = Ll 5] is

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

) Select the correct option
: 5
!
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| hédd Roid heid Reid Roid Ros

3

Question # 3 of 10 { Start time: 04:25:36 PM, 14 June 2021 )

A matriz A and its transpose have the same determinant.

A
@

O)

Select the comrect option @

FALSE ° /\/
N

O

-

TRUE
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| hédd Roid heid Reid Roid Ros

3

Question # 4 of 10 { Start time: 04:25:52 PM, 14 June 2021 )

If & matrix A is invertible than adj(A) is also invertible.

Select the correct option
TRUE

FALSE \
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Question # 5 of 10 { Start time: 04:30:07 PM. 14 June 2021 )

At what condition det(AB)=(detA){detB) is possible?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option \\\\

When B is a column matrix
O o)l\l\\/
A 9

When A and B are n x n matrices \\______

When A is a row matrix

When & and B are m x n matnces
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Question # 6 of 10 { Start time: 04:30:25 PM. 14 June 2021 ) Tol

Which of the following is NOT the axiom for vector space where u, v, win V are set of vectors and |, m. n are scalars?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

U+(v+w)=u+v)+w

O

[{u+v)=lu+lv

Uy =v.u

(I +m) u=lu+mu
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) Question # 7 of 10 ( Start time: 04:30:45 PM. 14 June 2021 )

)

2: If Ais a triangular matrix, then det{A) is the product of the entries on the

)

)

)

)

)

) \

) N

) O

.': Select the correct option N

! { [ —

.': first two rows of A @T@

) Q)

: o)

3 ° ’\\/

:: Q‘)_\

) main diagonal of A N7
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) L]

)

)

) X

: diagonal of A
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) O
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:: first two columns of A
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Question # 8 of 10 { Start time: 04:31:12 PM. 14 June 2021 )

If & Is an n=n matrix, then

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

Select the correct option N h
R

det AT — det A AN

det A' = —detA
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Question # 9 of 10 ( Start time: 04:31:28 PM. 14 June 2021 )

At what condition the Cramer's formula is valid for linear systems?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

) A
- Select the correct option ;\@i()
When matrix is mxn A

X

. Ny /1

When det(A) is equal to zero

'y

When matrix isnxn \

When det(A) in not equal to zero
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MTH501:Quiz No 2 Quiz 5

Question # 10 of 10 { Start time: 04:31:48 PM. 14 June 2021)

Any system of n linear equations in (n+1) variable can be solved by Cramer's rule.

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

Select the comrect option

TRUE

O

FALSE
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Share with your fellows
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